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Q1. What is unit digit of the sum of first 152 whole numbers ?
oI 152 Qof ST F AR HT TS 95 T L2

(@5

(b) 2

(01

(d)6

Q2. The sum of 10 terms of the arithmetic series is 390. If the third term of the series is 19. Find
the first term

ST @AT & 10 T T I07 390 §. QAT T A9 UE 19 § AT IgAT U8 A1q hiow?

(a)3

(b) 5

(@7

(d)8

Q3. What least value must be assigned to ‘**’ so that the number 63576 * 2 is divisible by 8?
g 9 & FH 7= 747 § o+ & Ferifa far s =nfae arfes sear 63576 * 2, 8 & A= g7
(@1

(b) 2

(c)3
(d) 4

Q4.
What is the unit digit of (151)*%7 + (586)°*"* + (865)*%* 4 (286)°" ?

(151)%%7 + (586)°°7* + (865)°°% + (286)°2 # Ylolc Tolx Y TAT AT 47

(@)1

() 6

(©)8 "
()5 O e
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31111 241" 400 + Total Tests
1
2 7 2+ v 75 Tier-1 Mocks
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(a) 1/3 v 78 Previous Years' Tier-1 Papers
(b) 2 v 20+ Previous Years Tier-l Papers
(C) 1 v 200+ General Awareness Topic wise Sets
(d) 0
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Q6. The product of two number is 48. If one number equals “The number of wings of a bird plus 2
times the number of finger in your one hand divided by the number of wheels of a Tricycle.” Then
the other number is

I HATAT FT UAHS 48 . IR TIT &7 “TF Toft F da@i F §&a7 F 2 [ ;T AT grer it Friert hit
TS % I, F fAufeaT a1 & iy F gear & Ao 3 9% I 96T & seaT g7 @ 9T &

(a)9

(b) 10

(c) 12

(d) 18

Q7.If in a three-digit number the last two digits’ places are interchanged, a new number is formed
which is greater than the original number by 45. What is the difference between the last two digits
of that number?

I TH T st qTeAT T&AT A ST < 3 F T 9w A 99 /U A, T uF A 9T I gt g <
JrEafas €eaT ¥ 45 A §. I T T sifaw ¥ sf=hi 1 sfa< Fra fiforA?

(@9

(b) 8

(c)6
(d)5

Q8. The least number that must be subtracted from 1294 so that the remainder when divided by
9,11, 13 will leave in each case the same remainder 6 is:

IAqH deT OrE 1294 & =2 & 912 9, 11, 13 7 fawora w37 % 1= ya+ Rufa & qura Qe 6 ¥ 3

(a) 2
(b) 3

()1
(d) 4

Q9. Which is the biggest one
(a) 33
(b) 22
(©) 95
(d) 85

Q10.287 x287 + 269 x 269 - 2 x 287 x 269 = ?
(a) 534
(b) 446
(c) 354
(d) 324
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Q11. addazy

. 1 1 N N & O testseries
What is the value of — ?

. . . 3T ?Xil 11x15 899x903 ALL SHIFTS PAPERS OF 2016 & 17
3x7 T 7x11 T 11x15 T asaxsez 1 cne did . @ SSC CGL
(a) 21/509 TIER-1/PRELIMS
(b) 18/403
(c) 25/301 COMBO
(d) 29/31 78 TOTAL TEST
* 35 All Shifts Papers of 2016

Q12. Find the sum of first 39 odd numbers. * 43 All Shifts Papers of 2017
Tgd 39 AW "EaTet FT AT A1 Fiog,
(a) 1331
(b) 1521
(c) 1651
(d) 1728

Q13. When a number is divided by 5, the remainder is 3. What will be the remainder when sum of
cube of that number and square of that number is divided by 5?

9 T G&A1 w7 5 8 fasariorg 3 Smar € aF Qwwer 3 grar €. 59 S UEAT & 99 3T € 9 T & a9 & I
1 5 & farwrfora frar ST ar rower w9 g m?

(@)1

(b) 2

(c)3

(d) 4

Q14. The smallest number, which should be added to 756896 so as to obtain a multiple of 11, is
I 999 It AT e 756896 H SIIET ST ATRY fSrE& 11 T [OreT IT7 FhaT ST 9 98 9T &

(@)1

(b) 2

(c)3

(d)5

Q15. Twenty one times of a positive number is less than its square by 100. The value of the
positive number is

T GATHF G&IT AT 21 AT ST & 100 FH §. GFTHF ST T 7T 8

(a) 25

(b) 26

(c) 42

(d) 41

Q16. If an angle is five times to its complimentary angle find the angle.
Tf% IS I T T HIT A i AT &. I AT Y.

(a) 15°

(b) 75°

(c) 150°

(d) 30°
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Q17.If two supplementary angles are (7y + 58) and (16y + 53) then find the value of 19y

I3 T gTF T (7y + 58) 3 (16y + 53) §, AT 19y FT AT JT7 FL.
(a) 38°
(b) 57°
(c) 76°
(d) 95°

Q18. Kishan make a angle 54° 54 instead of 54°, find the percentage error made by Kishan?
e 54° % F9ITT 54° 54 F0T I §, e grr & 1 wftsra i s war a2

(a) 10%

(b) 1.33%
(c) 1.66%
(d) 2.33%

Q19. In the given figure find the angle x° - y°
< AT Sl & 07 x° - y© & IGT AT,

(a) 60°
(b) 25°
(c) 65°
(d) 45°

Q20. In the given figure. Find the ZA + 2B + 2C+ 2D + LE=?
< Y ST &, LA + £B + 2C + 2D + £LE = ? 914 FX.
A

A

C D

(a) 235°
(b) 225°
(c) 180°
(d) 360°
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Q21. In the given diagram AB is a line the find (2x + 3y)
<t Y srRfa § AB T X@T §. AT (2x + 3y) T WIF A1 he.
D C

(a) 186°
(b) 241°
(c) 466°
(d) 180°

Q22. In the given diagram PQ = PR, PS =SQ = QR then find, ZR =?
fw 1T @™ § PQ = PR, PS =SQ = QR T £R FTq X,

P

4] R
(a) 72°

(b) 108°

(c) 45°

(d) 75°

Q23. In the given figure PQ || RTand QR || UV find A =?
< T T § PQ || RT 3T QR || UV. A=? 7T #< .

u
(a) 53¢
(b) 105°
(c) 78°
(d) 68°
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Q24. In the given figure AB||CD||EF and PQ||RS find £QRS. @ | Adda 247
< Tt sEfa § AB||CD||EF 3% PQ||RS. QRS T #X. '

i; “THE CRACKER”

A - B SSC CGL TIER-I
4  PRACTICE PAPERS
C D | BOOK
35“7/':! Useful for SSC CGL Tier-1

E p F
(a) 150°
(b) 135°
(c) 160°
(d) 95°

Q25. If one angle of a linear pairs is acute angle the another angle is
7t T UG SIS T TF BT <A DI g T GEX DI §

(a) acute angle/ = &I

(b) right angle/ THE=HTIT

(c) obtuse angle/3Ters ror

(d) None of these/SaH & &I Aal
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